4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 0,0)

X~ 1 1ooe+U4 /13
Y 4137+ 0.0
pl -34.16 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 4

Trnu 5Y/0/13
po 4177+ 0.0
pl -34.19.+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0,0, 8

S 5148/13
Po 4236+ 0.0
pl -37.03+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 12

ST o106/13
PO 4238+ 0.0
pl -35.83 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,0,1)

AT 1 nuiLUusbe+u4 /13
PO 4143+ 0.0
pl -34.28 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 5

Trnu 5320/ 13
Y 4181+ 0.0
pL -34.52+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0,0,9)

AT 5959/ 13
po 4238+ 0.0
pl -35.74+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 13

Srna 7 oz89/13
PO 4252+ 0.0
pl -35.18 + 0.00

PR
100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

1000

TVC(c,b,ch)=(0, 0, 2)
T X

S yaad /13
po 4144+ 0.0
pl -34.17 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 6

Trnu /34113
Y 4174+ 0.0
pl -33.13+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 0, 10

S 4309/13
po 4262+ 0.0
pl -35.98 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 0, 14)

S ovad /13
po 4236+ 0.0
pl -34.85+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 0, 3)

AT 1nuiL1zoe+u4 /13
PO 4143+ 0.0
p1 -33.55+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 7

Trnae bY18/13
PO 4200+ 0.0
pL -34.45+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 0, 11

] 4527113
po 4269+ 0.0
pl -35.46 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 0, 15

Srna 7 o495/13
po 4240+ 0.0
pl -34.18 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0,1,0)
T Ao

u  5/95/13
po 4182+ 0.0
pL -34.23 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 1, 4

S 75049713
po 4208+ 0.0
p1 -34.45+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 1, 8)
T X

conar 4z15/13
po 4209+ 0.0
pl -35+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 1, 12

Sruae 6315713
po 4262+ 0.0
pl -37.02:+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

ST o002/13
" po 4191+ 0.0
pL -35.04 £ 0.00

TVC(c,b,ch)=(0,1,1)
T A

TP delay [ns]

TVC(c,b,ch)=(0,1,5

= 52/1/13
[ree, po 4215+ 0.0
pl -34.51+ 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(0, 1,9)

Srna 7 80/13
e, po 4225+ 0.0
p1 -34.27+ 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(0, 1, 13

Srna 7 o3ul/13
e, po 4268+ 0.0
pl -37.75+ 0.00

PR RS T
50 100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

TVC(c,b,ch)=(0, 1, 2)
T X

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 1, 6

S 7 5443713
po 4214+ 0.0
pL -35.97 + 0.00

S 7 5759713
po 4229+ 0.0
p1 -35.23+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 1, 10

RSP YET)
po 4243 0.0
p1 -35.25+ 0.00

1
100

TP delay [ns]

1000

TVC(c,b,ch)=(0, 1, 14

Sruae 306 /13
po 4252+ 0.0
p1 -36.79+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 1, 3)
C T 4

S T aye3 13
e po 4214+ 0.0
pL -36.08  0.00

TP delay [ns]

TVC(c,b,ch)=(0,1,7

s 4186/13
= po 4231+ 0.0
pl -34.45+ 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(0, 1, 11

“ina o199713
e, po 4243 0.0
p1 -35.28+ 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(0, 1, 15

Srna 7 e952/13
- po 4261+ 0.0
pL -36.89+ 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 2,0)
T A

u 1389/13
Y 4200+ 0.0
pl -36.24 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 4

Trnu Y45 /13
po 4184+ 0.0
pl -35.62+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 2,8

A 1102113
Po 4225+ 0.0
pl -35.58 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 12

T Boy8 /13
po 4244+ 0.0
pl -36.67 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,2,1)
T A

S 7 bua5/13
PO 4195+ 0.0
pl -35.42+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 5

Trnu 58U7 / 13
Y 4202+ 0.0
pL -36.45 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 2,9

T inuig szae+04 /13
po 4257+ 0.0
pl -36.22 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 13

S 8135/13
po 4228+ 0.0
pl -36.69 + 0.00

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(0, 2, 2)
T X

S ooo3/13
po 4210+ 0.0
pl -35.77 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 2, 6

Trnu 5616 /13
Y 4200+ 0.0
pl -36.23:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 2, 10

Tl 13e+u4 /13
po 4258+ 0.0
pl -36.06 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 14

T byy4 /13
po 4244+ 0.0
pl -37.03+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 2, 3)
T X

Srnan o5/ 13
pO 4220+ 0.0
p1 -36.5+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 7

Trnae 5456 / 13
PO 4227+ 0.0
pL -37.09+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 11

ATt 928113
po 4256+ 0.0
pl -35.85+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 2, 15

S bo54 /13
po 4242+ 0.0
pl -36.86 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 3,0)
T A

w0444 /13
Y 4199+ 0.0
pl -36.07 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 4

Trnu bby2 /13
po 4187+ 0.0
pl -34.76 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 3,8

“ o 8588 /13
Po 4220+ 0.0
pl -34.65+ 0.00

0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 3, 12

Sroae 7 7106/13
PO 4255+ 0.0
pl -36.65 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,3,1)
T A

S 7 b109/13
PO 4198+ 0.0
pl -34.94 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 3,5

Trnu bU7 /13
- Y 4192+ 0.0
pL -35.23+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 3,9

“rwgag1e+u4 /13
. po 4234% 0.0
pl -35.11.+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 3, 13

X~ nar )ouu.L 113
- po 4246+ 0.0
pl -35.1+ 0.0

PR IS S S
50 100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

TVC(c,b,ch)=(0, 3, 2)
T X

Srwae T oysd /13
po 4211+ 0.0
pl -36.04 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 6

Trnu 5U31/13
Y 4211+ 0.0
pl -36.68:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 10

“ o usU2 /13
po 4244+ 0.0
pl -34.95+ 0.00

1
100

TP delay [ns]

1000

TVC(c,b,ch)=( 0, 3, 14

“rou 7 oy05/13
po 4267+ 0.0
pl -36.22 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 3, 3)
T A

S T 5000/ 13
PO 4223+ 0.0
pl -35.85+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 3, 7

Trnae 5145/ 13
PO 4223+ 0.0
pL -35.41+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 11

S 1191/13
po 4253+ 0.0
pl -35.67 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 3, 15

Srou T or85/13
po 4262+ 0.0
pl -35.22 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 4,0)
T A

u " 0a0/13
Y 4202+ 0.0
pl -36.93 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 4, 4

T 5283/13
po 4198+ 0.0
pl -36.32+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 4,8

AL 1U35/13
Po 4219+ 0.0
pl -34.86 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 4, 12

T b4y4 /13
PO 4226+ 0.0
pl -36.35+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 4,1)
T A

S T bys5/13
- LY 4182+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 4,5

S 4315/13
- Y 4201+ 0.0
pl -36.77+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 4,9

ruz0r3e+u4 /13

- po 4234+ 0.0
pL -34.92:+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 4, 13

X~ nar )ou:)3 113
= po 4234+0.0
p1 -36.3+ 0.0

PR IS S S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(c,b,ch)=(0, 4, 2)
T X

S 6558113
po 4218+ 0.0
pl -37.97 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 4, 6

S 5460/ 13
Y 4221+ 0.0
pl -37.84+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 4, 10

X~/ nar )u/:>6/13
po 4256+ 0.0
pl -35.5+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 4, 14

T bso8 /13
po 4225+ 0.0
pl -36.59 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 4, 3)
T A

S os7/13
- PO 4224+ 0.0
Pl -36.46% 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 4,7

S 5356 /13
- PO 4216+ 0.0
pl -37.07+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 4, 11

S 14501713
- po 4264+ 0.0
pL -36.08  0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 4, 15

S 10s0/13
- po 4234+ 0.0
pl -37.35+ 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 5,0)
T A

u o0U3/13
Y 4175+ 0.0
pl -36.62+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 4

Trnu av82 /13
po 4189+ 0.0
pl -35.14  0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0,5, 8

A 6Ub9 /13
Po 4179+ 0.0
pl -34.36 + 0.00

0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 12

T b236/13
PO 4192+ 0.0
pl -34.64 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 5,1)
T A

S 7 bue9 /13
PO 4175+ 0.0
pl -37.52+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 5

Trnu bbb8 / 13
Y 4179+ 0.0
pL -36.07 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0,5,9

S Zze+ud 113
po 4199+ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 13

S 0439 /13
PO 4199+ 0.0
pl -34.51+ 0.00

PR
100

TP delay [ns]

4000
3000

2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(0, 5, 2)
T X

S T 5502/13
po 4181+ 0.0
pl -36.69 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 6

Trnu bUb9 /13
Y 4189+ 0.0
pl -35.87+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 5, 10

X~/ nar )1411/13
po 4221+ 0.0
p1 -35.1+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 14

T b136/13
po 4202+ 0.0
pl -35.45 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 5, 3)
T A

S 7 b150/13
PO 4182+ 0.0
pl -36.13+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 7

Trnae 5U14 /13
PO 4200+ 0.0
pL -33.76 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 5, 11
T X

- rnar )uu14 /13
po 4216+ 0.0
pl -34.6+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 15

S bUS1/13
PO 4200+ 0.0
pl -35.01+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 6,0)
T A

u b151/13
Y 4204+ 0.0
pl -36.36 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 4

Trnu 0413/13
po 4192+ 0.0
pl -36.26 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 8

AL Y306 /13
LY 4209+ 0.0
pl -36.44 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 12

T 1927113
PO 4221+ 0.0
pl -34.83+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 6,1)
T A

S 6ur0/13
- Y 4195+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 5

Trnu 0410/ 13
= Y 4176+ 0.0
pL -35.14 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6,9

T nuig zsoe+ud /13
- po 4223+ 0.0
pl -36.12 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 13

S bYu7 /13
- po 4214+ 0.0
pl -35.02 + 0.00

PR IS S S
50 100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

1000

TVC(c,b,ch)=(0, 6, 2)
T X

S T 5158113
po 4200+ 0.0
pl -35.53 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 6

Trnu bl/4/13
Y 4195 0.0
pl -35.74 % 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 10

T nuiLg3ve+u4 /13
po 4248+ 0.0
pl -36.99 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 14

X~ 1 nar )oa::t'!/ 13
po 4217+0.0
pl -35.7+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 6, 3)
C T *

S 7 5015/13
- Y 4217+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 7

Trnae b1U3 /13
= PO 4192+ 0.0
pL -34.79. 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 11

ATt YBb5 /13
- po 4262+ 0.0
pl -37.34+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 15

S b/49/13
- po 4218+ 0.0
pl -35.43+ 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 7,0)
T A

u ©3/1/13
Y 4199+ 0.0
pl -37.31+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 7, 4)
T X

- /nar - suol /13
po 4218+ 0.0
pl -35.3+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 7,8

A 8218/13
Po 4232+ 0.0
pl -36.48 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 12

ST 5201713
PO 4220+ 0.0
pl -34.42 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,7,1)
T A

“roue T 5y0l1/13
™, PO 4209+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 5

Trnu 1085 /13
- Y 4222+ 0.0
pL -35.96 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0,7,9

T nuiz 11ve+ud /13
- po 4240+ 0.0
pl -36.57 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 13

X~ nar )auu4 113
- po 4235+ 0.0
p1 -36.4+ 0.0

PR IS S S
50 100

TP delay [ns]

4000 (S
3000
2000

1000

TVC(c,b,ch)=(0, 7, 2)
T X

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 7, 6

4000 e
3000~

2000~

wol C = 28.39 [ps/ch .

S T ous5/13
po 4232+ 0.0
pl -37.85+ 0.00

Trnu 1195113
Y 4222+ 0.0
pl -35.22:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 7, 10

4000 _—_
3000 :
2000 :
1000

0

T rnuiL4sze+u4 /13
po 4255+ 0.0
pl -36.06 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 14

4000 B
3000~

2000~

1000 - C

S T 0s0/13
po 4236+ 0.0
pl -35.67 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,7,3)
C T *

S T 5509/13
e Y 4229+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 7

Trnae 1355/ 13
e PO 4217+ 0.0
pL -34.61+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 11

ATt 926113
- po 4256+ 0.0
pl -36.84+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 15

Sonae 707713
- po 4248+ 0.0
pl -36.03 + 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 8,0)
T A

T oz84/13
Y 4212+ 0.0
pl -36.03 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 4

Trnu busd /13
po 4215+ 0.0
pl -34.89 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 8, 8

S ys34 /13
Po 4236+ 0.0
pl -36.34 + 0.00

0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 12

S 7 ryal/13
PO 4253+ 0.0
pl -36.99 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 8,1)
T A

S 7 5048/13
- Y 4197+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 5

Trnu b4ar1/13
- Y 4209+ 0.0
pL -34.31+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 8,9

T 31e+04/13
- po 4251+ 0.0
pL -35.82:+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 13

Srva T za4713
- po 4263+ 0.0
pl -36.97 + 0.00

PR IS S S
50 100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

TVC(c,b,ch)=(0, 8, 2)
T X

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 8, 6

S 4ys6/13
po 4210+ 0.0
pl -35.63 + 0.00

Trnu bYu3 /13
Y 4232+ 0.0
pl -35.61+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 8, 10

- o sie+ud /13
po 4279+ 0.0
pl -36.93 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 14

S T 0746113
po 4261+ 0.0
pl -37.36 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 8, 3)
T A

S 50/8/13
PO 4228+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 7

Trnae brb6 /13
PO 4237+ 0.0
pL -35.45+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 8, 11

- i yzze+u4 /13
= po 4272+ 0.0
pL -36.67+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 15

Srna 7 oos8/13
- po 4253+ 0.0
pl -36.36 + 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(0, 9,0)
T A

u bou9 /13
Y 4181+ 0.0
pl -35.49 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 4

Trnu V40 /13
po 4179+ 0.0
pl -35.34  0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 9, 8

A bb32/13
Po 4214+ 0.0
pl -35.34+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 12

S T un4 /13
PO 4219+ 0.0
pl -35.24 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,9,1)
T A

S T oo81/13
= Y 4177+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 5

Trnu bb4a5 /13
Y 4197+ 0.0
pL -35.21+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 9,9

-1 nuiL ysoe+ud /13
= po 4209+ 0.0
pl -35.16 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 13

Srna 7252713
- po 4196+ 0.0
pl -34.37 + 0.00

PR IS S S
50 100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

TVC(c,b,ch)=(0, 9, 2)
T X

S osy2/13
po 4197+ 0.0
pl -36.15+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 9, 6

Trnu bLY2 /13
Y 4197+ 0.0
pl -35.61+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 9, 10

- o 8/Y5/13
po 4245+ 0.0
pl -35.84 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 14

ST 5py2/13
po 4207+ 0.0
pl -34.09 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 9, 3
E T

X~/ nua )35!3/13
- pO 4199+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 7

Trnae b1y3 /13
= PO 4214+ 0.0
pL -36.57  0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 9, 11

ATt 1209113
- po 4244+ 0.0
pl -36.54 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 15

Srna T owwl /13
- po 4222+ 0.0
pl -34.83+ 0.00

PR IS T
50 100

TP delay [ns]



TVC(c,b,ch)=(0, 10,0) TVC(c,b,ch)=(0, 10,1) TVC(c,b,ch)=(0, 10, 2) TVC(c,b,ch)=(0, 10, 3)
AT ooU7 /13 Ao ©318/13 AT 1nw ©109/13 AT o 3313/13
4000 fmm,, ' po 4207+ 0.0 4000 fe,, ' po 4203+ 0.0 4000 fm ' PO 4212+ 0.0 4000 ' PO 4227+ 0.0
Pl 34.00 0.00 Pl -34.24% 0.00 L PL_ 3461 0.00 Pl 3477000

3000 -1

-1 3000 =1 3000 -1 3000

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 0, 10, 4) TVC(c,b,ch)=( 0, 10, 5) TVC(c,b,ch)=( 0, 10, 6) TVC(c,b,ch)=( 0, 10, 7)
T XT 6186 /13 T X7 oy54/13 T X" /nar ‘4rv8/13 T X 5638/ 13
4000 [, po 4223+ 0.0 4000 fo, po 4231% 0.0 4000 e, po 4232+ 0.0 4000 fes po 4256+ 0.0
Pl -36.43%0.00 Pl -37.16+ 0.00 [ pl -36.6£00 Pl -37.08% 0.00
3000 [ B 3000 [ 1 3000 — — 3000 B
2000~ e 2000 [ — 2000 — — 2000 [ e
1000 C - 1000 C - 1000:— C=27.32 [pS/Ch — 1000 C -
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 0, 10, 8) TVC(c,b,ch)=( 0, 10, 9) TVC(c,b,ch)=( 0, 10, 10) TVC(c,b,ch)=( 0, 10, 11)
T X7 6117 /13 T X1 14pe+u4 /13 T Pl yusl/13 T X 1184113
4000 e po 4212+ 0.0 4000 [ po 4230+ 0.0 4000 po 4251+ 0.0 4000, po 4247+ 0.0
Pl 35141 0.00 -36.4% 0.0 [ Pl -36.49% 0.00 Pl -35.02% 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 . 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000

-1 1000

I I [ I I
% 50 00 % 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1 1
50 100 50 100

TVC(c,b,ch)=( 0, 10, 12 TVC(c,b,ch)=( 0, 10, 13) TVC(c,b,ch)=( 0, 10, 14 ) TVC(c,b,ch)=( 0, 10, 15

na 10/8/13 S byb6 /13 Al 1087 /13 AL bzs4 /13
4000 [, po 4257+ 0.0 4000 fae, po 4251+ 0.0 4000 [, po 4259+ 0.0 4000 [ po 4254+ 0.0
Pl -36.52+0.00 pl 3595+ 0.00 [ Pl -36.78+0.00 pl  -37.050.00
3000 B 3000 - 3000 | — 3000 B
2000 B 2000 - 2000 - 2000 B
1000 E 1000 E 1000 C = E 1000 E
P P P R T [ P R B P B T
0 50 T00 0 50 00 0 50 T00 0 50 T00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=(0, 11,0) TVC(c,b,ch)=(0, 11,1) TVC(c,b,ch)=(0, 11, 2) TVC(c,b,ch)=(0, 11, 3)
T Ao T r T r T A

4000 u ©830/13 4000 AL 5/35/13 2000 1o 5/45/13 4000 Tona o193/13
= po 4155+ 0.0 = PO 4158+ 0.0 ™ po 4172+ 0.0 = po 4181+ 0.0
pl -34.54+ 0.00 pl -35.09 + 0.00 I pl -35.01% 0.00 pl -34.91% 0.00

-1 3000

3000 = 3000 = 3000 N

2000 - 2000 =1 2000 =1 2000

1000 1 1000 -1 1000 -1 1000

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(0, 11, 4) TVC(c,b,ch)=(0, 11, 5) TVC(c,b,ch)=(0, 11, 6) TVC(c,b,ch)=(0, 11, 7)
4000 E T X1 4689 /13 1000 E T X~ nan 4996/ 13 — T X1 5000/ 13 - T X7 nan 4408/ 13
= po 4162+ 0.0 po 4188+ 0.0 4000 e, po 4210+ 0.0 4000 o, po 4194+ 0.0
pl -33.97 + 0.00 pL -34.76 + 0.00 [ pl -35.86+ 0.00 pL -34.11+ 0.00
3000 1 3000 -1 3000 :— —: 3000 -
2000 = - 2000 - 2000 — — 2000 - E
wol C = 29.44 [ps/ch] . 1000 . wof C = 27.89 [ps/ch . wol C = 29.32 [ps/ch] .
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(0, 11, 8) TVC(c,b,ch)=(0, 11, 9) TVC(c,b,ch)=( 0, 11, 10) TVC(c,b,ch)=( 0, 11, 11)
— T X7 5/36/13 — T X 12.84/13 — T X rnar (509713 - T X bBs7 /13
) po 4185+ 0.0 4000 po 4186+ 3.7 4000, po 4196+ 0.0 4000 po 4212+ 0.0
pl -34.62:+ 0.00 pL -33.89+ 0.11 [ pl -34.2+ 0.0 pL -35.16+ 0.00
3000 E 3000 [ E 3000 — — 3000 -
2000 - 2000 - - zooo:— — 2000 -
1000 ] woo- C = 29.51 [ps/ch] 7] woor C = 29.24 [ps/ch] 7] 1000 ]
% EY 00 0 e T DL- EY 00 0 e T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b,ch)=( 0, 11, 12) TVC(c,b,ch)=( 0, 11, 13) TVC(c,b,ch)=( 0, 11, 14 ) TVC(c,b,ch)=( 0, 11, 15 )

4000 Bl 1us8/13 4000 7 nun o528 /13 4000 ut bry5/13 #nuan by40/13
- PO 4210+ 0.0 = po 4203+ 0.0 - po 4215+ 0.0 4000 g, po 4209+ 0.0
pl -35.57 + 0.00 pl -35.39 + 0.00 I pl -35.97 + 0.00 pl -34.74+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR ISR SR B PR IS S S PR SR T PR IS T
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 12, 0)
T A

u 0/9/13
Y 4206+ 0.0
pl -35.26 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 4

a 51/6/13
po 4214+ 0.0
pl -37.65+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 8

r 5451/13
Po 4202+ 0.0
pl -36.57 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 12, 12)

ra - Corul/13
PO 4218+ 0.0
pl -35.55+ 0.00

PR
100

TP delay [ns]

4000 (S

3000

2000

1000

TVC(c,b,ch)=( 0, 12, 1)
T A

S 76703713
PO 4214+ 0.0
pl -37.51+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 5

4000

3000

2000

w00 C = 26.95 [ps/c ]

nur 5231/13
Y 4206+ 0.0
pl -37.11 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12,9

4000 e

3000

2000

1000

S 193e+u4 /13
po 4221+ 0.0
pl -36.51+ 0.00

1
100

TP delay [ns]

4000 e

3000

2000

1000

TVC(c,b,ch)=( 0, 12, 13)

Sona o 595713
po 4219+ 0.0
pl -36.04 + 0.00

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=( 0, 12, 2)

X rnur ooad /13
po 4211+ 0.0
pl -36.3+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 6

u 4/37/13
Y 4210+ 0.0
pl -36.81 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 10

i 1362113
po 4235+ 0.0
pl -36.28 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 12, 14)

ra - Tous9/13
po 4226+ 0.0
pl -35.66 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 12, 3)
T A

ST 58813
PO 4235+ 0.0
pl -36.79 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 12, 7
T X

-/ nar )4a158 /13
po 4237+0.0
pl -37.1£ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 11)

ra bb31/13
po 4247+ 0.0
pl -36.52 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 12, 15

Sona o o196/13
po 4226+ 0.0
pl -36.16 + 0.00

PR
100

TP delay [ns]



TVC(c,b,ch)=( 0, 13, 0) TVC(c,b,ch)=(0, 13, 1) TVC(c,b,ch)=( 0, 13, 2) TVC(c,b,ch)=( 0, 13, 3)
T X T x T X T x

w7 224013 “ruw 7 owB/13 w7 paz5/13 S 7 au3/13
4000 [ PO 4213+ 0.0 4000 e, po 4211+ 0.0 4000 [, po 4217+ 0.0 4000 po 4236+ 0.0
Pl -35.82+ 0.00 Pl -36.770.00 3 Pl -3543%0.00 pl  -37.08+ 0.00
3000 — 3000 - 3000 L 3 3000 -
2000 - 2000 - 2000 ] 2000 B
1000 E 1000 E 1000 C= E 1000 E
0 £ oo 0 50 0% 0 £ oo 0 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(0, 13,4) TVC(c,b,ch)=(0, 13,5) TVC(c,b,ch)=(0, 13,6) TVC(c,b,ch)=(0, 13,7)
T X7 6155/13 T X rnuar 3159/13 T X7 5/51/13 T X rna 5660 /13
4000 [, PO 4233+ 0.0 4000 f po 4235+ 0.0 4000 [, po 4257+ 0.0 4000 s po 4248+ 0.0
Pl -36.92+ 0.00 Pl -36.94+ 0.00 - Pl -37.14% 0.00 Pl -36.48+ 0.00
3000 B 3000 — 3000 ] 3000 B
2000 - 2000 - 2000 ] 2000 -
1000 C - 1000 C - moo-—C =26.92 [pS/Ch ] 1000 C -
0 EY 00 0 5 T 0 EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 0, 13, 8) TVC(c,b,ch)=( 0, 13, 9) TVC(c,b,ch)=( 0, 13, 10) TVC(c,b,ch)=( 0, 13, 11)
T X7 o880 / 13 T AT rnuLsyre+ud /13 T X~ 1w uzie+u4 /13 T A7 rnuiL134e+04 /13
4000 fems, po 4258+ 0.0 4000 e, po 42812 0.0 4000 [, PO 4300+ 0.0 4000 fom, PO 4299+ 0.0
Pl -34.32 0.00 Pl -34.33: 0.00 L pl -34.6 % 0.0 Pl -35.57:0.00
3000 | g 3000 - 3000 3 3000 g
2000 E 2000 E 2000 3 2000 E
wol- C = 29.13 [ps/ch]\ ] 1000 . wob C = 28.90 [ps/ch]N 7 1000 1
% EY 00 0 e T % EY 00 0 e T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b,ch)=( 0, 13, 12) TVC(c,b,ch)=( 0, 13, 13) TVC(c,b,ch)=( 0, 13, 14) TVC(c,b,ch)=( 0, 13, 15

na (111113 S yo31/13 Al 8546 /13 AL 9580 /13
4000 po 4248+ 0.0 4000 po 4248+ 0.0 4000 e, po 4247+ 0.0 4000 po 4264+ 0.0
Pl -34.37+0.00 pl  -3568+ 0.00 3 Pl -34.99+ 0.00 Pl -36.47+0.00
3000~ B 3000 — 3000 4 3000 B
2000~ B 2000 — 2000 — 2000 B
100~ C = 29.10 [pS/C h] B 1000 B 1000 b 1000 4
P P P R T [ P R B P B T
0 50 T00 0 50 00 0 50 T00 0 50 T00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14,0)
T A

u bo/2/13
Y 4180+ 0.0
pl -36.37 + 0.00

TVC(c,b,ch)=(0, 14, 4)
T X!

1
100

TP delay [ns]

far “oul/13
po 4201 0.0
pl -34.6+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 14, 8

X~ 1 nar )ts:uZ 113
po 4200+ 0.0
pl -35.3+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 12)

e Trsz8113
PO 4221+ 0.0
pl -35.89 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 1)
T A

S o045/ 13
PO 4193+ 0.0
pl -35.71+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 14, 5

nur 6526 /13
Y 4205+ 0.0
pl -34.83+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 14,9

S 7oe+ud /13
po 4216+ 0.0
pl -35.93 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 13

X~ nar 20.17 113
po 4223+ 0.0
p1 -36.3+ 0.0

PR
100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

1000

TVC(c,b,ch)=( 0, 14, 2)

X rnu ossd /13
po 4198+ 0.0
pl -35.8+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 6

u 5419/13
Y 4204+ 0.0
pl -33.98 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 14, 10
T X

1 nar 1)508/13
po 4229+ 0.0
pl -35.9+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 14)

e 7512713
po 4237+ 0.0
pl -37.04+ 0.00

PR
100

TP delay [ns]

4000 e

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 3)
T A

ST o504/13
PO 4196+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 14, 7

2000

3000

2000 -

ool C = 28.97 [ps/ch ]

nut b202/13
PO 4204+ 0.0
pl -34.51+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 11
T X

4000 [,

3000

2000

1000

/ nar /)LuZ /13
po 4228+ 0.0
pl -36 0.0

1
50 100

TP delay [ns]

4000 o

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 15

Sona o Csus1/13
po 4242+ 0.0
pl -37.25+ 0.00

PR IS T
50 100

TP delay [ns]



TVC(c,b,ch)=( 0, 15, 0) TVC(c,b,ch)=( 0, 15, 1) TVC(c,b,ch)=( 0, 15, 2) TVC(c,b,ch)=( 0, 15, 3)
T X T x T X T x

w 49713 S 7 4459713 w5713 “rna 4497138
4000 fe,, po 4192+ 0.0 4000 e, po 4191+ 0.0 4000 fm, po 4214+ 0.0 4000 [, po 4209+ 0.0
Pl -33.58+ 0.00 pl_ -33.05:0.00 [ Pl -35.27%0.00 Pl -34.830.00
3000 g 3000 s 3000} ] 3000 g
2000 - 2000 e 2000} ] 2000 g
ool C = 29.78 [ps/ch]\ 1 ol C = 30.26 [ps/ch]N 1 . 1
0 £ oo 0 50 0% 0 £ oo 0 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(0, 15, 4) TVC(c,b,ch)=(0, 15,5) TVC(c,b,ch)=(0, 15,6) TVC(c,b,ch)=(0, 15,7)
T X7 5008 /13 - T X rnuar 5239/13 - T X7 5413/13 - T X rna 4874113
4000 e, po 4207+ 0.0 4000 e, pO 4209+ 0.0 4000 e, PO 4215+ 0.0 4000 o, pO 4230+ 0.0
Pl 3594000 Pl -36.240.00 H PL_ -36.35% 0.00 Pl -36.51% 0.00
3000 - 3000 g 3000 3 3000 [ —
2000 E 2000 E 2000 3 2000 - —
1000 C - 1000 C - moo-—C =27.51 [pS/Ch ] 1000 C =
0 EY 00 0 5 T 0 EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 0, 15, 8) TVC(c,b,ch)=( 0, 15, 9) TVC(c,b,ch)=( 0, 15, 10) TVC(c,b,ch)=( 0, 15, 11)
T X7 1855/ 13 T AT rnuz4r9e+u4 /13 T Pl you0 /13 T X 1106 /13
4000 e po 4216+ 0.0 4000 [, po 4253+ 00 4000 [, po 4273+ 00 4000 jam, po 4250+ 0.0
Pl 3523000 -353+ 0.0 L PL_ -35.99: 0.00 Pl -34.36+ 0.00
3000 B 3000 E a000f ] 3000 [ b
2000 E 2000 E 2000f ] 2000 [ E

1000 -1 1000 - 1000

_: 100 C =29.10 [pS/Ch] ]

I I [ I I
% 50 00 % 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1 1
50 100 50 100

TVC(c,b,ch)=( 0, 15, 12) TVC(c,b,ch)=( 0, 15, 13 ) TVC(c,b,ch)=( 0, 15, 14) TVC(c,b,ch)=( 0, 15, 15

o 7165/13 AL ©719/13 o bob13/13 A b/53/13
41000 o, po 4228+ 0.0 4000 o, po 4218+ 0.0 4000 - po 4215+ 0.0 4000 B, po 4224+ 0.0
pl -34.81+ 0.00 pl -34.66 + 0.00 r pl -34.35+ 0.00 pl -34.87 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR ISR SR B PR IS S S PR SR T PR IS T
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1,0,0)
T A

T 5024113
Y 4180+ 0.0
pl -36.14 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 0, 4

Trnu 4388 /13
po 4161+ 0.0
pl -35.80  0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1,0, 8

S 4198/13
Po 4186+ 0.0
pl -34.31+ 0.00

0

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 0, 12

T 4014 /13
PO 4198+ 0.0
pl -34.89 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,0,1)
T A

S 5y58/13
- Y 4182+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 0, 5

Trnu 4526 /13
F, Y 4170+ 0.0
pL -35.37 % 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1,0,9

- i 1ybe+u4 /13
. po 4206+ 0.0
-34.5+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 1, 0, 13

S 5144113
= po 4197+ 0.0
pl -35.87 + 0.00

PR IS S S
50 100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

TVC(c,b,ch)=(1,0,2)
T X

“ruae T 44u8/13
po 4176+ 0.0
pl -35.46 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 0, 6

Trnu 4ub5/13
Y 4181+ 0.0
pl -35.36:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 0, 10

X~/ nar )4.105/13
po 4225+ 0.0
pl -34.7+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 0, 14

T b255/13
po 4210+ 0.0
pl -37.18 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,0, 3)
C T *

S T 5uz6/13
= Y 4199+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 1, 0, 7

Trnae 3916 /13
F= PO 4191+ 0.0
pL -36.21+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 1, 0, 11

] 4052/ 13
- po 4233+ 0.0
pl -35.42 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 1, 0, 15

S boul/ 13
= po 4203+ 0.0
pl -36.34 + 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1, 1,0)
T A

u boy0/13
Y 4172+ 0.0
pl -36.02+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 4

Trnu 5/61/13
po 4172+ 0.0
pl -35.55 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 8)
T X

cnar oz02/13
po 4191+ 0.0
p1 -34.5+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 1, 12

T 1480/ 13
PO 4208+ 0.0
pl -36.24 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,1,1)
T A

S T 5820/13
- Y 4193+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 1,5

Trnu 54/3/13
- Y 4190+ 0.0
pL -35.99 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 1,9

T nuzUble+ud /13
- po 4215+ 0.0
pl -34.18 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 13

S (16113
= po 4200+ 0.0
pl -36.65 + 0.00

PR IS S S
50 100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

1000

TVC(c,b,ch)=(1, 1,2)
T X

S os06 /13
po 4192+ 0.0
pl -35.19 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 6

Trnu 5452 /13
Y 4199+ 0.0
pl -35.87+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 10

- o 58/3/13
po 4223+ 0.0
pl -34.31+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 14

T 1087 /13
po 4211+ 0.0
pl -36.71+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 1, 3)
C T *

S 5106/13
- Y 4200+ 0.0
pl -34.83 + 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 1,7
E T X

-/ nar )':)L41/13
- po 4199+ 0.0
pl -35.1+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1,1,11

T rna oo82 /13
F= po 4227+ 0.0
Pl -34.93: 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 15

S bys4 /13
= po 4202+ 0.0
pl -35.15+ 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1,2,0)
T A

u 5/92/13
Y 4192+ 0.0
pl -36.51+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 4

Trnu 5169 /13
po 4211+ 0.0
pl -35.78 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 8)
T X

- /nar” oov2 /13
po 4194+ 0.0
p1 -34.8+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 2, 12

S 7 o03/13
PO 4237+ 0.0
pl -36.56 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,2,1)
T A

S 4020/13
PO 4193+ 0.0
pl -35.13+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2,5

Trnu b1y5/13
Y 4230+ 0.0
pL -35.69+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 9

T inaiL zzoe+ud /13
po 4215+ 0.0
pl -34.95+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 13

Srna T azsa /13
PO 4235 0.0
pl -37.08 + 0.00

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(1, 2,2)
T X

S 4y59/13
po 4206+ 0.0
pl -35.57 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 6

Trnu bl1b6 /13
Y 4238+ 0.0
pl -35.85:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 2, 10

- o 53/3/13
po 4225+ 0.0
pl -35.02 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 14

S T 1529113
po 4236+ 0.0
pl -36.05 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b.ch)=(1, 2, 3)
T A

S 7 4v89/13
PO 4200+ 0.0
pl -34.56 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 7

Trnae 58Y6 / 13
PO 4235+ 0.0
pL -35.53+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2,11

ATt 6115/ 13
po 4247+ 0.0
-35.75+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 2, 15

Srna 7 9523/13
PO 4232+ 0.0
pl -36.05+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(c,b,ch)=(1,3,0)
T A

u byu3 /13
Y 4203+ 0.0
pl -37.06 + 0.00

1
100

50
TP delay [ns]
TVC(c,b,ch)=(1, 3, 4)
T X1 428113
", po 41975‘
pl -37.04 + 0.00
[ C=27.00[ps/c ]
SB 150
TP delay [ns]
TVC(c,b,ch)=(1, 3,8

AL ©r19/13
LY 4227+ 0.0
pl -35.17 + 0.00

1
100

0 50
TP delay [ns]
TVC(c,b,ch)=(1, 3, 12)
T AT b1U5/13
4000 po 4191+ 0.0
pl -33.28 + 0.00
3000 - —
2000 - J
wool- C = 30.05 [ps/ch] 7
0 £ 5

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,3,1)
T A

“ro 7 ouu5 /13
- po 4204+ 0.0
Pl -35.68+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 3,5

Trnu 5353 /13
F po 4228+ 0.0
pl_ -38.29 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 3,9

- i lpbe+u4 /13
- po 4244+ 0.0
pL -35.79. 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 13

[, PO

S bUr2/13
4193+ 0.0
pl -33.41+ 0.00

PR IS S S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1, 3,2)
T X

S or25/13
po 4207+ 0.0
pl -35.99+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 6

Trnu bby4 /13
Y 4228+ 0.0
pl -38.12:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 10

- o b5/6/13
po 4267+ 0.0
pl -35.73+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 14

T 1/.03/13
po 4187+ 1.3
pl -33.19+ 0.04

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b.ch)=(1, 3, 3)
T A

S 7 6s23/13
PO 4222+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 3, 7

Trnae 5193 /13
e PO 4233+ 0.0
pL -37.75+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 11
e, T o

ATt 0359/ 13
4250+ 0.0
pl -35.42+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 15
= T PO

S b323/13
4196+ 0.0
pl -33.98 + 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1, 4,0)
T A

u ©318/13
Y 4217+ 0.0
pl -38.19+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 4

Trnu 44/9/13
po 4200+ 0.0
pl -34.92+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 8

S bb41/13
Po 4239+ 0.0
pl -36.48 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 4, 12

T 5404 /13
PO 4205+ 0.0
pl -34.81+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,4,1)
T A

AL ou7/13
- PO 4221+ 0.0
pl -38.73+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 4,5

Trnu 4638 /13
. po 4214+ 0.0
pl 3584 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 9

“rnan zuse+ud 113
- po 4266+ 0.0
pL -36.46 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 13

S 5549 /13
- po 4213+ 0.0
pl -35.75+ 0.00

PR IS S S
50 100

TP delay [ns]

4000
3000

2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(1, 4, 2
T

X1 na )4333/13
po 4224+ 0.0
pl 37.9+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 6

Trnu 5U20/13
Y 4219+ 0.0
pl -36.38:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 4, 10

- o 1815113
po 4286+ 0.0
pl -37.25+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 14

T 494 /13
po 4217+ 0.0
pl -35.67 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 4, 3)
T A

S 7 4v86/13
PO 4226+ 0.0
pl -37.53+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 4, 7

Trnae 45/9/13
PO 4225+ 0.0
pL -35.64 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 4,11

ATt o8Y5 /13
po 4274+ 0.0
pl -36.24+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 15

S 5/03/13
PO 4209+ 0.0
pl -36.04 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1,5,0)
T A

u 2110/13
Y 4188+ 0.0
pl -35.53+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 4

Trnu 4z08/13
po 4221+ 0.0
pl -35.88 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1,5, 8

A 1090713
Po 4233+ 0.0
pl -36.31+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 5, 12

X~ 1 nuar )acu5/13
po 4250+ 0.0
pl -35.9+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,5,1)
T A

S 2296113
o, LY 4192+ 0.0
pl -35.34 + 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 5,5

Trnu 4609 /13
Y 4221+ 0.0
pL -35.97 & 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1,5,9

T rnubl/e+u4 /13
= p0 4257+ 0.0
pl -36.15+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 1, 5, 13

Srna T 5022/13
= PO 4245 0.0
pl -35.76 + 0.00

PR IS S S
50 100

TP delay [ns]

4000 &
3000 -
2000~

1000 [~

TVC(c,b,ch)=(1, 5,2)
T X

S T 1584113
po 4197+ 0.0
pl -35.56 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 6

4000 e
3000~

2000~

wol C = 27.31 [ps/ch .

Trnu 43/2/13
Y 4238+ 0.0
pl -36.62:+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 10

4000 [,
3000~

2000~

1000 -— c

- o ©3/9/13
po 4271+ 0.0
pl -36.88 + 0.00

0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 14

4000 .
3000~

2000

1000 -— C

S 7 5448113
po 4244+ 0.0
pl -35.51+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,5,3)

X /rnu " 0309/13
pO 4206+ 0.0
p1 35+ 0.0

TP delay [ns]

TVC(c,b,ch)=( 1, 5, 7

Trnae 3096 /13
- po 4240 0.0
pL -35.47 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 11

T rna 807113
- p0 4279+ 0.0
pL -36.84 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 1, 5, 15

Srna 7 50u6/13
- PO 4254+ 0.0
pl -35.58 + 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1,6,0)
T Ao

u ” os08/13
po 4190+ 0.0
pL -36.99 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 4

S © as1/13
po 4217+ 0.0
p1 -36.64 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 8

Sinae © os08/13
po 4218+ 0.0
p1 -34.69+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 12

Sruae T yr2/13
po 4229+ 0.0
pl -37.16+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,6,1)
T A

S T as0/13
po 4195+ 0.0
pL -36.52 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1,6,5

Sinar 4028113
po 4215+ 0.0
p1 -36.07+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6,9

Tonuia/ze+u4 /13
po 4238+ 0.0
p1 -35.14 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 13

Srna 7 o003/13
po 4225+ 0.0
pl -36.32:+ 0.00

PR
100

TP delay [ns]

4000
3000

2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(1, 6,2)
T X

S 7184713
po 4202+ 0.0
pL -37.33 0.00

1
100

TP delay [ns]

TVC(c.b,ch)=(1, 6, 6

S © ars5/13
po 4218+ 0.0
p1 -35.56 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 10

Sina 5326113
po 4253+ 0.0
-34.91+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 14

Sruae 7 5015713
po 4219+ 0.0
p1 -35.96 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 1, 6, 3)
T A

S 7 buy6 /13
po 4210+ 0.0
pL -35.78  0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1,6,7
T X

- nar )4149/13
po 4217+0.0
pl -35+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 11

Sroa T s0u8/13
po 4244+ 0.0
pL -34.61+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 6, 15

Srna T osr2/13
po 4211£ 0.0
pL -36.06+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1,7,0)
T A

u 4925/13
Y 4182+ 0.0
pl -35.33+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 4

Trnu 4382 /13
po 4194+ 0.0
pl -36.67 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 8

S 5849 /13
Po 4216+ 0.0
pl -36.31+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 7, 12

T 4931/13
PO 4225+ 0.0
pl -35.36 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,7,1)
T A

S T 4556/13
PO 4200+ 0.0
pl -36.24 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7,5

Trnu 4454 /13
Y 4192+ 0.0
pL -36.45 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7,9

- aqre+04 /13
po 4218+ 0.0
pl -35.64+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 13

S 5213113
po 4227+ 0.0
pl -36.29 + 0.00

PR
100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

1000

TVC(c,b,ch)=(1,7,2)
T X

S 4409713
po 4193+ 0.0
pl -35.48 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 6

Trnu V45 /13
Y 4236+ 0.0
pl -36.87 % 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 7, 10

S 5437113
po 4225+ 0.0
pl -35.78 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 14

T 5119/13
po 4221+ 0.0
pl -35.36 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b.ch)=(1,7,3)
T A

S 454813
PO 4210+ 0.0
pl -36.51+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 7

Trnae 4335/13
PO 4218+ 0.0
pL -37.14+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7,11

] 4023/13
po 4236+ 0.0
pl -36.44 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 7, 15

A 5192/13
po 4229+ 0.0
-35.56 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1, 8,0)
T A

u 1202113
Y 4171+ 0.0
pl -35.92+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 4)
T X

cnar 4o22/13
po 4210+ 0.0
pl -37.7+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1,8, 8

AL 5106 /13
LY 4202+ 0.0
pl -36.47 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 8, 12

T bz34/13
PO 4237+ 0.0
pl -36.41+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,8,1)
T A

S T 186/13
PO 4199+ 0.0
pl -36.96 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8,5

Trnu 44¢3/13
Y 4203+ 0.0
pL -37.22:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8,9

T inuiLYb/e+ud /13
po 4228+ 0.0
pl -36.05+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 13

S b/b2/13
po 4219+ 0.0
pl -35.21+ 0.00

PR
100

TP delay [ns]

4000
3000

2000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

1000

TVC(c,b,ch)=(1, 8,2)
T X

S 0va0 /13
po 4202+ 0.0
pl -36.56 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 6

Trnu 4/u8/13
Y 4206+ 0.0
pl -36.93:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 10

- o 5112/13
po 4240+ 0.0
pl -35.97 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 14

T biyl/13
po 4236+ 0.0
pl -36.95 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 8, 3)
T A

S 7 boz3/13
PO 4206+ 0.0
pl -36.66 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 8, 7

Trnae 4156113
PO 4207+ 0.0
pL -37.05+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 11

ATt 1208113
po 4234+ 0.0
pl -35.96 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 15

S 0493 /13
PO 4236+ 0.0
pl -35.75+ 0.00

PR
100

TP delay [ns]



4000 e

3000

2000

1000

TVC(c,b,ch)=(1,9,0)

X rnu owl/13
po 4193+ 0.0
p1 36+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 4)
T X

4000 e

3000 -

2000 [~

1000 [~ C

“/nar 5302 /13
po 4208+ 0.0
pl -36.2+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1,9, 8

4000 e

3000

2000

1000

0

S 5949 /13
Po 4179+ 0.0
pl -33.85+ 0.00

0

1
100

TP delay [ns]

4000 e

3000

2000

1000

TVC(c,b,ch)=( 1, 9, 12

S T os5u9/13
PO 4205+ 0.0
pl -34.67 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,9,1)
T A

S 7 0409/ 13
PO 4203+ 0.0
pl -35.72+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 9,5

Trnu 5090/ 13
Y 4221+ 0.0
pL -36.65+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1,9,9

Tonunz.a0e+04 /13
po 4211+ 0.0
pl -34.55 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 13

Srna T 0012/13
PO 4193+ 0.0
pl -34.07 + 0.00

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(1, 9, 2
T

X1 na )0431/13
po 4199+ 0.0
pl -36.1+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 6

Trnu 4843 /13
Y 4228+ 0.0
pl -36.88:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 10

- o 1189113
po 4228+ 0.0
pl -35.48 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 14

S T o5/9/13
po 4199+ 0.0
pl -35.21+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 9, 3)
T A

Srnar 7 0019/13
- PO 4232+ 0.0
pl -37.91+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 9, 7

Trnae 4541/13
F= po 4232 0.0
Pl -35.97:0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 11

] o3V4 /13
- po 4221+ 0.0
pl -34.04 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 9, 15

Srna T ozv9/13
- po 4208+ 0.0
pl -34.19+ 0.00

PR IS T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 1, 10,0)
T A

we” 5259/13
Y 4196+ 0.0
pl -35.77 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 10, 4

a 4/U3/13
po 4184+ 0.0
pl -34.34 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 10, 8

r 1147113
Po 4228+ 0.0
pl -37.13+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 12)

ra o T1/5713
PO 4222+ 0.0
pl -33.85+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 10, 1)
T A

S 4500/ 13
PO 4212+ 0.0
pl -35.75+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 10,5

wur 51/9/13
Y 4184+ 0.0
pl -35.03 % 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 10,9

Tonuiz0/e+u4 /13
po 4233+ 0.0
pl -35.86 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 13)

Srna o Cousl/13
po 4226+ 0.0
pl -32.87 + 0.00

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

TVC(c,b,ch)=( 1, 10, 2)
T A

w7 osy7/13
po 4199+ 0.0
pl -34.85+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 6

u 4930/13
Y 4203+ 0.0
pl -35.27 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 10

i 5Y55/13
po 4250+ 0.0
pl -36.32+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 14 )

e 71349713
po 4227+ 0.0
pl -34.85+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 1, 10, 3)
T A

S 4506/ 13
PO 4197+ 0.0
pl -34.54 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 10, 7

nut 4683/ 13
PO 4216+ 0.0
pl -35.58 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 11)

ra ©328/13
po 4275+ 0.0
pl -38.15+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 15

Srna o Cound /13
po 4211 0.0
pl -33.61+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1, 11, 0)
T A

u 5/53/13
Y 4198+ 0.0
pl -37.04 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 11, 4

nu 3825/13
po 4203+ 0.0
pl -35.71+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 11, 8

- oy ige+u4 /13
Po 4225+ 0.0
pl -36.73+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 11, 12)

fuu o o150/13
PO 4239+ 0.0
pl -35.94 + 0.00

PR
100

TP delay [ns]

4000 (e

3000

2000

1000

TVC(c,b,chy=(1,11, 1)
T A

S " boo6 /13
PO 4208+ 0.0
pl -36.35+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 11,5

4000 o

3000 |-

2000

1000 [~ C

nut 4467 /13
Y 4200+ 0.0
pl -35.94 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 11, 9

4000 e

3000

2000

1000

T nuiz 1bbe+ud /13
po 4251% 0.0
pl -37.46 + 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

TVC(c,b,ch)=( 1, 11, 13)

fiu - 4005/13
PO 4237+ 0.0
pl -36.43 + 0.00

PR
100

TP delay [ns]

4000 e
3000
2000

1000

TVC(c,b,ch)=(1, 11, 2)
T *

roa “onu8/13
po 4223+ 0.0
pl -37.21+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 11, 6

4000 e
3000~

2000~

wof C = 27.76 [ps/ch .

1 4u36 /13
Y 4219+ 0.0
pl -36.02:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 11, 10)

4000 =
3000 :
2000 :
1000

0

i bz2/13
po 4269+ 0.0
pl -36.78 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 11, 14 )

4000
3000
2000

1000

ut 5307 /13
po 4233+ 0.0
pl -37.17 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 11, 3)
T A

S 74515713
PO 4225+ 0.0
pl -36.25+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 11,7

nur 38/9/13
PO 4228+ 0.0
pl -35.89+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 11, 11)

ra b187/13
po 4272+ 0.0
pl -36.91+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 11, 15 )

fae - ouul /13
po 4243+ 0.0
pl -37.37+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(1,12,0)
T A

u 4913/13
Y 4153+ 0.0
pl -34.68 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 12, 4

a 48V4 /13
po 4170+ 0.0
pl -35.11+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 12, 8)

1 5111/13
Po 4195+ 0.0
pl -35.51+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 12)

ra o 583/13
PO 4192+ 0.0
pl -34.82 + 0.00

PR
100

TP delay [ns]

4000 [,

3000

2000

1000

TVC(c,b,ch)=(1, 12, 1)
T A

S o287/13
PO 4162+ 0.0
pl -35.12+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 12,5

4000

3000

2000 -

1000 [~ C

nur 4104/13
Y 4183+ 0.0
pl -35.41+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 9

4000 e

3000

2000

1000

T 31be+u4 /13
Y 4200+ 0.0
pl -34.21+ 0.00

1
100

TP delay [ns]

4000 [,

3000

2000

1000

TVC(c,b,ch)=( 1, 12, 13)

Sona 5006713
PO 4190+ 0.0
pl -35.73+ 0.00

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

3000
2000

1000

TVC(c,b,ch)=( 1,12, 2)
T A

w4086 /13
po 4172+ 0.0
pl -34.84 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 12, 6

u 4567 /13
Y 4182+ 0.0
pl -35.23+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 10

i 5838 /13
po 4222+ 0.0
pl -35.45+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 14)

4000

e our7/13
po 4206+ 0.0
pl -36.04 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 12, 3)
T A

S 4081/13
PO 4178+ 0.0
pl -34.36 + 0.00

1
100

TP delay [ns]

TVC(c,bch)=(1, 12,7

nut 4495/ 13
PO 4196+ 0.0
pl -35.43+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 11)

ra 5507 /13
po 4214+ 0.0
pl -34.61+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 15

X~ rnar 24!8 113
po 4194+0.0
p1 -35.1+ 0.0

PR
100

TP delay [ns]



4000

3000

2000

1000

TVC(c,b,ch)=(1, 13,0)
T X

~nuiLpuse+ud /13
Y 4201+ 0.0
pl -37.37 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 13, 4

4000

3000

2000

1000

a 6539 /13
po 4209+ 0.0
pl -35.12+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 13, 8

4000

3000

2000

1000

0

r 6599 /13
Po 4193+ 0.0
pl -34.17 + 0.00

0

1
100

TP delay [ns]

4000

3000

2000

1000

TVC(c,b,ch)=( 1, 13, 12)

rua Y005 /13
PO 4250+ 0.0
pl -36.49 + 0.00

PR
100

TP delay [ns]

4000 &

3000

2000

1000

TVC(c,b,ch)=(1, 13, 1)
T A

S 5186/13
PO 4200+ 0.0
pl -36.72+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 13, 5

4000

3000

2000

1000

X~/ nar )0406 /13
po 4222+ 0.0
pl -35.5+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 13,9

4000

3000

2000

1000

sy 5420/13
po 4251% 0.0
pl -34.66 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 13, 13

4000 -,

3000

2000

1000

X~ nar 1)140/13
po 4252+ 0.0
p1 -36.8+ 0.0

PR
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

TVC(c,b,ch)=( 1, 13, 2)

X rnur Csui/13
po 4200+ 0.0
pl -36.6+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 13, 6

u bUZ4 /13
Y 4232+ 0.0
pl -36.11+ 0.00

50

1
100

TP delay [ns]

TVC(c,b,ch)=( 1, 13, 10

i 15